Economics 101 Name /4 /in 'W /'/)'7'460‘&,(%/ V

Summer 2014
Second Midterm

This exam consists of three parts: I) five binary choice questions each worth 2 points for a total of 10
points; IT) twenty multiple choice questions worth 3 points each; and II) two short answer problems worth
15 points each. All answers should be clearly and legibly recorded on the exam booklet: any answer that
is not legible will be counted as a wrong answer. All answers should be presented in a neat, logical
fashion in the short answer portion of the exam.

Honor Code Statement:

I , understand that it is important for me to do my own work. It is also
important that I not provide help, either intentionally or unintentionally, to my fellow students. Therefore
I will keep my answers covered and [ will not provide answers to my classmates or take answers from my
classmates. 1 also acknowledge that on this exam I may not have access to a calculator or a cellphone.

(Signed)
Exam Score:
L (10 points possible)
IL (60 points possible)
1. (Problem #1: 15 points possible)
(Problem #2: 15 points possible)
Total (100 points possible)




I. Binary choice (5 questions worth 2 points each, for a total of 10 points)

1. Suppose the average dollar cost per year of attending college at a four-year public university
in 2011-2012 was 5.6 times as high as it was in 1981-1982. You are also told that the CPI was
2.6 times as high in 2011-2012 as it was in 1981-1982. Based on this information, the real price
of college from 1981-1982 to 2011-2012
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2. Consider a movie theater. Suppose that the r ce elasticity of demand for a typical movie that ’
the theatre shows is 1.2. If the movie theater 3 shows a movie that is notably more popular
than the typical movie shown, then this popular movie wﬂl most likely ha\f'q a prlce elasticity of

demand é =/ 2 * VZi A(Q 676' |u""I J . roree =
(@) Less than 1.2. % &P ¢! eapts milhe b
b) Greater than 1.2. % Jm?rw =e-5.
Agigpy mf;ém

0n51der1ng a price that is greater iian ﬂtzg
. At such a price you would conclude that »des

3. Suppose you have a linear demand curve and you ar
the price at which the price elasticity of demand is )
demand is

b) Inelastic. see abbove /J‘W

4. In a perfectly competitive industry, new firms will enter the industry in the long run if

a) Economic profits are greater than zero in the short run: e JF be 20
Accovntep U mey

b) Accounting profits are greater than zero in the short run. gnd, 2l nedbare fiine, Sim 7 7

Shie acctig o ‘et ,uc&u&
5. Which of the following two statements best describes the CP1? @/ @ s/7

a) It is the dollar price of a market basket of goods that represents the consumption pattern of a
typical consumer.

Cﬁﬁg an index based on a ratio of the dollar price of a market basket of goods relative to what

the cost of the market basket of goods was in a base year. /
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I1. Multiple choice (20 questions worth 3 points each, for a total of 60 points)

6. Suppose the average nominal cost per year for attending a 4-year public university in 2011-
2012 was $17,000 when the CPI was 230, and the average nominal cost was $2,700 in 1981-
1982 when the CPI was 90. What was the real dollar cost of attending college in 1981-1982 that

would be directly comparable to the current dollar cost in 2011-20127 ,,oﬂ ;’

a) $2,700 } F o 200-12 B
now Los cPl mﬂ Cos

b) $17,000 X (90/230) fean — @

¢) $17,000 X (230/90) 1a%- 32 2,10 70 ’@J

d) $2700 90/2%9) 20 -1 # (3,000 230 l oo

e}2,700 X (230/90) )

Use the figure below to answer the next question. The figure depicts the market demand and

supply curves for Badger T-shirts. pedd cost ?'0 o® (’ oo )

o joo
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s28 230 310
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Demand Curve

in 22 Quantity of Badget T-shirts
(measured in (housands)

7. The market for Badger T-shirts is in equilibrium at 10,000 per year, at a price of $12 per T-

shirt. Given this information, the value of consumer surplus is and the value of producer'
surplus is
a) $160, 003 $40.,0
Cb) $80,000 520,000 Cs = zhh
¢) $50,000° $50,000 - L (2%- 12) ([0, 300)
d) $140,000° $120,000 - &
¢) $280,006% $12,000 % ( | )Se0 = %0,000
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8. Consider Wanda’s consumption pattern this summer in Madison. She tries to avoid eating too much ice

cream and French fries but she loves them too much to give them up entirely. She buys ice cream cones
for $3 each and for the last ice cream cone she purchased she got 150 utils of satisfaction; she buys
French fries for $2 an order, and she got 50 utils from the last order of fries she bought. (Note: MU =
marginal utility, P = price, C = cones of ice cream and F = French fries.) This means that:

Wanda should buy pnr¢  ice cream cones since MU¢/$1 is he !E than her marginal utility from

the last dollar spent on fries. As she gets

LA

buying cones when the MU/Pc 2 MWe/fE

=
a) more; higher; more; decrease; = MUg/Pp

b) lesgf higher; less; decrease; > MUp/Py
¢) more; higher; more; increas¢; = MUy/Py
d) less}fhigher; less; increase; = MUg/Pr

cones, the MUg¢ will Mﬂaﬂ‘ . She should stop
Pez=#2  WUE =50

Mut—lf?,-g‘o MUp = 2. 2
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“‘_r 9. Wilbur spends $100 a week on food and $30 a week on entertainment. Then food prices drop so much

habits so that he spends $80 a week on his usual food selection plus another $5 a week for ice cream for

if' j that he can eat the same way for only $80. Once the price of food drops, Wilbur changes his spending

vy

his meals, he spends an additional $10 a week to add fresh fruit to his diet. Finally he spends an additional
$5 more a week on entertainment than he did initially. From this information we can see that

a) Only the substitution effect clearly caused him to consume more entertainment.
_——4“——"__——_————————_1___

b) Only the income effect clearly caused him to consume more entertainment,>

¢) Both the income and substitution effect clearly caused him to consume more entertainment.
d) Only the substitution effect caused him to consume more food.

10. Consider an individual consumer with an income of $40, who consumes only two goods-- pizza at a
price of $12 and hamburgers at a price of $4. Let Qp and Qy be the quantity of pizza and the quantity of
hamburgers, respectively. The slope-intercept form of the equation for his budget line with Qy on the

vertical axis is
a) IOQP + 401.]: 120

b) Qp=10-3Qy
c) Qp=10+3Qy
) Qu=10-3Qp

) Qu=10+3Qp
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11. When an intervention in a market‘c':auses %deadweight 10815',t we can measure the size of this
deadweight loss by

a) The value of the decrease in output due to the intervention. X

b) The decrease in consumer surplus due to the intervention. 4

¢) The value of the increase in output if the intervention causes a misallocation of resources that
results in an inefficient increase in the production of a good due to the intervention. X

d) The average of the decrease in producer surplus and consumer surplus due to the intervention. L]
€ The decrease in total surplus due to the interv@
Use the following figure to answer the next twe questions. The figure depicts the cotton market
for Zandia which is a small, open economy.
Market for Cotton in
Zandia
Price of Cotton Note: graph is not drawn to scale,
per Pound but both domestic supply and
domestic demand curves are
linear
50,90
Domestic Supply
'
§0.20 World Price
q ! : Domestic Demand
25 7 9 Quantity of Cotfon (measured in
billions of pounds)
abmﬂ P
12. In the above figure, domestic consumer surplus is billion, and domestic producer
surplus is billion dollars.
2) $24.5; $2.00% Cs= 5 (F)(FB)
b) $4.9% $0.40 - . 35CHB) = 2458 S
c)$2.4,5<;$2.00" ps = & (.zo)(2f) ) e
d) $4.9; $4.00 = ,10(18) 7 =

(€ $2.45,80.20 )

13. In the above figure, when this market is open to trade and the world price is $0.20/pound
then domestic production is 7 billion pounds and imports are 5 billion pounds.
a)2;5

b) 2; 7€ D 14
d)2;2.5
¢) $£2.5 - ‘,L/gf,w,lﬂ—aﬁlm_ﬂ,

)



14. Consider the market for pens in a small, open economy. You know that the domestic demand
and domestic supply curves for pens are given by the following equations where P is the price
per pen and Q is the quantity of pens given in billions:

Domestic Demand: Q = 9 - 10P

Domestic Supply: Q = 10P
Furthermore, you know that the world price of pens is $0.20 per pen. Suppose this small
economy imposes an import tariff on pens of $0.10 per pen. Given this information and holding
everything else constant, then the quantity of imports into this economy with the tariff would be

%2 Dillion pens. S bow ’ 4 ‘p: 2

a) 1.5 >

- | haand - - 2
ol A O A AT
¢)3.0 ' dnor " )
d)9.0 8 7 @ Qhpa= 10C: 1) =2
e) 5.0
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15. Consider a small, closed economy that produces baskets. This country knows that its
domestic demand and domestic supply curves are given by the following equatlons Where Pis

the price per basket and Q is the number of baskets ’j;‘ ~ CS? 6 CD i £ f’ > &Dm $- Jo ,a
Domestic Demand: P = 0.8 - 0.1Q =/ ~ ¥ N P
Domestic Supply: P = 0.1Q = P ¢ O ® Do~

Furthermore, the country knows that the world price of baskets is $0.10 per basket. This country
has decided to open its basket market to trade while simultaneously imposing an import quota of
2 baskets. Given this information and holding everything else constant, the imposition of this

import quota will result in a domestic price of baskets equal to and domestic production

of baskets equal to b =

a) $0.2072 baskets q‘% oy ks CQﬁ%

b) $0.40‘-,‘/4 baskets L R "

c) $0.30; 2 baskets ! Qui’ lof + 2 : -

) $0.30: 3 baskets - \ >0 f/" - > / = 30

¢) $0.10; 1 basket 2. Qom = &720 -,

w/Quatn. W/ Quaot CQoom = 10(:3) =

16. Consider the market for the NCAA Final Four Men’s Basketball games. If the Badgers make
it to the final four, the price elasticity of demand for tickets to the game from those wildly
excited Badger fans is most likely to be close to which of the following values?

ay 2.5

b) 2.0

c) 1.5

d) 1.0



17. Suppose the cross price elasticity of demand for gas with respect to the price of cars is -0.5.

Then if the price of cars rises 10%, the quantity of gasoline purchased would by
a) Increase; 5% éxq T2 A(f\)gg’/) = =il
Do A / CM‘»

b) Increase; 20% & J/

¢) Decrease; 5% a» cw / A P

d) Decrease; 20% : e = B
é wfh (an 107 f

18. Because of the very slow recovery in the economy from the financial crisis, total income of

households is about 6% lower than it otherwise would be. If the income elasticity of demand for

college education is 0.8, then other things equal, we would expect that the lower income would

-

cause the number of full-time equivalent students to _ - by percent.
. D
a) Increase; 4.8 ?a AW <
b) Increase; 7.5 7 ﬁl_
9 Decrease; 48~ e 3 Y
ecrease; 7.5 "
- 6%

19. The demand curve given for a good is: P =12 — Q. On this demand curve, the elasticity of
demand will be 1.0 at a price of __ b ; therefore, raising the price above this will N
revenue.
a) $10; decrease
b) $8; increase
< ©) $6; decrease >
d) $4; decrease
e) $2; decrease

20. Marginal co‘szﬁgge_sents how much -

—a) Total cost increases when the quantity of output increases by one unit. >

"~ b) Fixed cost increases when the quantity of output increases by one unit.

c) Average total cost increases when the quantity of output increases by one unit.
d) Average fixed cost increases when the quantity of output increases by one unit.

21. The marginal cost curve
e A it fal i anve .
a) Intersects the average total cost curve at it minimum pointfl e Fufrlco 8
. o W Chast .
b) Intersects the average variable cost curve at i#t$ minimum point/) P v M&Z

¢) Intersects the average total cost curve above its minimum point.
d) Intersects the the average total cost curve below its minimum point.
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22. Assume a perfectly competitive industry, with constant returns to scale, that is initially in
long run equilibrium. Now suppose the market demand curve in this industry shifts to the right.
This indicates parv-t demand for the good. In the short run, the market price will 1T andthe

”g : .
market output will | . In the long run, the market price will ‘ & f E and the market
. OYS

output will

a) More; increas%relative to its initial level; increase relative to its initial level; increase relative
to its initial level; return to its  original level

—— —

b) More increase relative to its initial level; increase relative to its initial level; return to its
Lauggal level; increase relative to its initial level v j,)

c) Lesz,decrease relative to its initial level; decrease relative to its initial level; return to its

original level; decrease relative to its initial level

d) More; increase relative to its initial level; decrease relative to its initial lev%‘l’; increase relative

to its initial level; decrease relative to its initial level

e) Less;‘{iecrease relative to its initial level; increase relative to its initial level; decrease relative

to its initial level; increase relative to its initial level

[nh € shoT run,

23. Assume a perfectly competitive industry. ,ff,he supply curve of a firm will be its M€ C  cost

curve at or tlove its AV cost curve, and the market supply curve will be the (MFM

summation of the firms’ individual supply curves.

a) Marginal; above; average ‘totaﬂ< horizontal

b) Marginal; below* average total; vertical

c) Average totdf< above; average variable; horizontal

arginal, above; average variable; horizontal )

e) Average totﬁ, above; marginal; vertical

24. The marginal revenue curve for a monopolist
a) Is identical to the market demand curve.
(b) Lies below the market demand curve. )
¢) Lies above the market demand curve.
d) Is identical to the monopolist’s marginal cost curve.

25. An unregulated monopolist will

a) Produce that level of output where its marginal revenue equals its marginal cost. v
b) Determine the price it will charge by selecting that price from its demand curve that is
associated with its profit maximizing quantity. *

¢) Maximize profit, which is total revenue minus total cost. ¥

Qd) Answers (a), (b) ) and (c) are w




Section III: 2 Problems (worth a total of 30 points)
Problem 1 (worth a total of 15 points):

The figure below represents the market for a good that initially is in equilibrium at Po and Qo.

Price Per Unit g' I

/ susply
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Then the government levies an excise tax of $5 on the sale of each item, and the seller pays the
tax to the government. After the tax has been imposed:

a) (2 points) Draw in a new supply curve on the above graph, and label it s'.

b) (2 points) Indicate a distance between S and S" in the above figure that represents $5 and label
this distance $5.

¢) (2 points) Indicate the new equilibrium quantity in the above figure and label it Q.
d) (2 points) Show the new equilibrium price in the above figure and label it P

e) (3 points) Sketch in the rectangle in the above graph that represents the dollar value of the
taxes the government would collect, and fill in the rectangle as follows:

v// /i

f) (2 points) Indicate a segment on the vertical axis which shows how much more buyers pay per
unit after the excise tax, and label this segment, APE,

g) (2 points) Indicate a segment on the vertical axis which shows how much less the seller
receives per unit, after paying the excise tax, and label this segment, AP,



Problem 2 {(worth a total of 15 Points):

The diagrams below are for a representative firm and for the market in a perfectly competitive

industry(n Ha Shortrun,

Representative Hrm
o price parinic

me

el ‘ Satgegs gompl
ATC Z. 'QAV’LM-C
f5p - "

6 1 Y. Q
For the market: %

shovlrun
a) (2 points) Show the/lequlhbrlum price and quantity in the market and label them in the above

graph, P and Q..
For the representative firm:

b) (3 points) Label the average variable cost curve, AVC, the average total cost curve, ATC, and
the marginal cost curve, MC in the above graph.

¢) (2 points) Draw in and label the firm’s marginal revenue curve, MR, in the above graph.

d) (2 points) In the space below, write an equation that determines the profit maximizing quantity
of output for the representative firm.

Fivm 'orofH W:\w %CQ pmﬂuukf M’«Za&mlfzz W‘ﬁw

€) (2 points) Show the profit maximizing quantity for the representative firm in the above graph,
and label this quantity, d.

f) (2 points) In the above graph draw a rectangle that represents the representative firm’s short run
economic profit, and shade this rectangle as follows:

/]

g) (2 points) Determine the price at which the representative firm would shut down in the short
run, and label this price Py

10



